£ T3(2021)4E LLlﬁ?Lil'E%“I;II%m#& SHRE MEH FRHE-RER N . Bt eAS IR BASE oIt A, HEBeE cEegme BEEA MKE- FHEE- HER

2 S S 58 [ oH [FE ] =&]R 7R T% : 2N RN S °F :
= i ; EHEEITE | ERITES 5| B §E IEENTE | 2RITES g | e i3 *;* IEEITE | BRITES a8 le B IEEITE | ERITES g | = i *; IEEITE | BRITES g e | SIEBITE | ERITES
5] N il N 5] N ] i N
= = = =
HES FEEEE | ENES 1K Crazer ) | ERES T=mmAzEE] | 1 | B [HE
2 [ £ smeamae]l 2 [ B 2 [k ? 2 [ £ mwurgzeo] | 2 [ A 2 [ K B EERE
3 [+ 3|8 ERxerA=l | IR ES 3| x 3 |k [ 8] HUeEARRERA 3| &
41 H 4 | #H AHEYDH 4% ESREn 4| H 4 [k B R AFHERS] 41+
5| A [ | IFE: ZELDH 5 | £ 25 5 AR Vuszwzas|[ 5 | K 5 | H
6 | K BESE 6 | K 6 | B 25 6 | X RER 6 | £ [ 8 | 0 G L] 6 | A
7 K I ES 718 7 [k (A ES 7 X
FHES EEPEE | IFRES 8 | & HES BFEEFE]] 8 [H B [Io)=] 8 | Kk
9 [ £ SERET AL B 9 [k HES e | IERED [ 8 | REKE 9 [ X
E3 A K 429084k 10| & [ES 10 K 8 | MES
1] 8 Pq [ 1] B rErees | ERRIE 1] K sEERA 1] £ 8 | Hh X T A B
12| A AEREBEN K [ 1] 12] £ 12| B 12| K 2 12| B [ 8 |
13|k X [ 1] 138 BERY 13| X s—oy| 1 13| & 13] A
14| K £BEER ES [ 1] PTAEMRHS|[ 14] B 14 | 7k 14| £ 141 K
15| K EREERI = + [ 1] 15 | K 15 | A& 15| B 15 | 7K
16| & EHXEER B [ 1] 16 | 7K sneszia)| |16 & 16 [ A 16 | A& FEE R
17 £ A [ 1] 171K 171 £ 17] K HES
18| H Pg [ 1] 1emrmza|l 18] £ stEgggEl| 18 B ER R FE 18 [ K 18| £
19 A EEET K [ 1] 19 £ 19| B =EE | ERIES BE<E |[19] A HTLE(,2%)
20 | & PTASTEZE S X 20| B 20 | & 20| £ 20 | % HEDH
21| K BEETS E zaoxsiz]|l 21| B 21| K 21| £ 21 K
22 | K Py 3=t | + 22 | & 22 | 2 221 B [ 8 | £ AATEHILMRF RS 22 | 7k
23| & H @_ 23| K 23|} 23| B 23| % REDH
24| £ A AES BEXE 24 £ 24| & wmExgEa 24 &
25| A X B 25| & IEmEdTREl ] 25 | B 25 | 7k 25| £
26 | B 7K 26| £ 26 | B e | EAES [N 26| B
27| & X 27| B 27 & 27| £ 271 B (2]
28 | K BT RERS ES 28| B 28 [ K 28 £ 28 [ &
29 | #2 WA HPTARS ES 29 | K 29 [ R [ 1] 29 8 29 | K
30| & B 30 [ 7k 30| £ —B#BAZ]30] A 30 | &
A 31 £ 3] % BEEEAR
ETE ES EHE e FHE EiE ETIE S
1 5 5 ) ) 6 6 6 5 EHEKESD T 10
%EH*%E i ) p) 3 1$EH$§E| 2 p) p) g KEKEH 3
TREDBMTS] 25 2.5 TREBBMTY] 24 24 TREYBMTY] 2.8 2.8 TREBRMTY] 2.9 29 TREHBMTY] 2.8 4.1 TREDRMETY] 2.4 2.5
wEEmEMTY] 3.0 3.0 KEEBBMTY] 45 4.3 KEEBBMTY] 4.7 5.0 KEEHBMTY] 4.1 41 wEESBMTY] 3.0 55 KEEMEMTY] 3.6 44
108 | 5tE | =& |8 11A | 58 | =& |8 128 | 5tE | =& |8 1A | &E | =& |8 2R |#HE | =& |B 3R | #E | = |8
N S P e e e I R M e e N S RS e e e I P Y e B e e M M e B B I P Y e B e

BB g | Epg | | 2 B fpg| ®]p | E| 2 B pg | E | | B 2 BB fpg | Epg | |2 B fpg | E ] | Z| 2 B pg | % | | E| FRRKER

B Bl|= _ I Bl= =] BI= 2] Bl= 2] Bl= 2] Bl=
[HE3 Rer-ro@ghl 1 | A 1] 1 1 et | IEED [ 1] stH 1]k eaxxaraa|] 1 [ X EHiE
2 [ £ 2 [k siesgaEz]|| 2 [ X 1 1 2 [ H [ 1] 2 [k 2 [ K
3 |8 R Xitos |3 =1 1 3 | A 1] A ES 3 [ & 89
4 [ A 4 [ X 4 [£ 1 1 4 [k [ 1] AES HEAS RES
5 | & s | I B 5 | H 1 1 5 [ K [ 1] 5 [ £ 5 | £ ESe
6 | K 6 | £ [ 8] L#ﬁ)k?jz 6 |A]2 2 Vv 6 | & 6 | B 6 |H
AES 718 1] AFAE B 72 71 A 7R 100
RES e | 8 [ A EFrEean | IFER 1 1 8 [+ 8 [ % 8 [k
9 [£ NG ) | NP 9 [ K] 3 3 9|8 (1] A0 | 3EERA |9 K TR e H |
10[H 10 [ 71 H KB eaxzazaz| 10| £ 3 3 nyavssigse] | 10 | #2 RADH X 10 [ K TIE
11 A 1] K [ E]3 6 BERE | 3EeEmal 11 [k #EARSHE] #n FIEERELE] | EIES
12| & A RAEE 1 12 | K [ ] + [ ] A3 27
13] K 13| £ 13| A]2 2 13| K 5] 13| 8
14| K 14| H [ 1] 2] | 14 ] 3 3 14| £ CG- B EMRE JZ] =xuz anzum|| 14| B ES
15| & Alsrsissg]l 15[ A 15 ] 7K 1 1 SERK 15| £ X Frun AHIA R 15| K
6] £ 6 X 6| &] 3 3 6] B [ 1] A B sEsie |16 [k 55
17| A S RALLRTES] 17 K 1 I 1] 17]£]3 3 17| B X 17] K
18] A 18] K [HEIE 8 BRI AR 18k BN EH B BE ]
19| & 19| & e a lINEE 1 19| K [ 1] =1 wrsrar| [ 19 | £ EEEE
20 | K waEzER 20 £ [ 1] 20| B2 2 20 | K BESE =l 20| H ETE
21| K =1x%EE|[ 2 [ 8 21 [ &3 3 s 121 £ PTARES Il K K mazarark] [ 21 | B
2 £ =1 |22 8 22 [ K 1 1 ity | FAES 4 I B SEERA || 22| X 116
23| £ PR 23 [ # FEEERE [IFESHE E 23[ B gl K xe@Er |23k
24| 8 S EALRRTRS 24 | 7 [ 1] EEETE1IIIFAEIE 1 wxxonams|| 24| B (N I B AES BT ES
25| B 1072301 25 [ K Il 1] Y 25 £]3 1 AEEEE|[ 25| X (4 I K 25| £ FALFHAS
26 | k. BE<E 2 [ = I 1] G E 1 26 | K = K E 26| £ 155
27| Kk waurmayl | 27 | £ [ 1] 27| B3 1 27| K E] 27| B
28 | & 28 | A | 1] 28 | k|3 1 28 | & A 28 | A
29[ & EEErT N [EEE R 29 [ K 1 1 29[ £ 29 [k
30| £ 30 | & I 1] 30 | & 1 1 30| H 30 | K BREEHERSE
31| H K ES 1 1 311 A FIES
.............. ' et b AL i o BT E31 b BT £ :
HHWEHD T 7 FHREHT T i EHRRHTY 2 THREHT Y 6 EHREHT 0 ii FHREHT0 i3
KEREGT 2 3 KERETT 3 6 KEREET 2 6 KEREET 2 7 KEREETS ] KEREGT 3
FREBEMTY 25 25 FREBEMEY: 2.3 2.3 FREBEMTY: 25 24 FREBEMEY: 25 25 FREBHMTY 24 24 FREBEMEY: 2.7 2.8
hBEHEMTEY: 3.0 3.0 KEEBEETY: 44 43 hBEBEMTEY: 3.0 70 wEEBEMTEY: 3.0 3.0 hBEEBEMTEY: 40 3.0 HwEEEMTEY: 3.0 3.0




